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In TR22.803 V12.2.0[1], it describes in Section 5.1.6 about ProSe Communication between UEs and identifies some potential requirements as in the following:)
-Served by the same PLMN, including when roaming;

-Served by different PLMNs, including when roaming.

When the mIoT scenario between UE relay and IoT device performs the like as ProSec Communication, then following the Discovery they can communicate through the same PLMN or different PLMNs.) 
In TR22.861 V0.2.0 [2], it considers the case of UE relay and IoT having different subscriptions in different PLMNs in the roaming situation; however it misses the case, which will be treated in this contribution, when UE relay and IoT device having different subscriptions in the same PLMN and both are in the roaming case while the eNB is in different PLMN.
TR22.861 [2] describes 5 types of traffic scenario of IoT and in traffic scenario 3 it considers an IoT is connected with the network via a roaming relay UE. It does not consider the situation when the UE and the IoT devices are both in roaming situation that is a new part of traffic scenario to be added in the traffic scenario 3 in the section 5.2.2.3 in TR22.861.)
Proposal:  A new traffic scenario is considered. The IoT device has subscription A with PLMN2. The relay UE has the subscription B with PLMN2. The eNB belongs to PLMN1. The IoT device and the relay UE are in the roaming case.
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* * * 1st Change * * * *
5.2.2.3
Traffic scenario 3 of an IoT device which is connected with network via a relay UE in the roaming case
In this scenario3, the IoT device and relay UE belong to the different PLMNs and have 2 roaming cases. One is the IoT device in the roaming case, and the other is the relay UE in the roaming case. The detailed scenario3 is:

1) The IoT device has subscription A with PLMN1. The relay UE has the subscription B with PLMN2. The eNB belongs to PLMN1. The relay UE is in the roaming case.

2) The IoT device has subscription A with PLMN2. The relay UE has the subscription B with PLMN1. The eNB belongs to PLMN1. The IoT device is in the roaming case.
3) The IoT device has subscription A with PLMN2. The relay UE has the subscription B with PLMN2. The eNB belongs to PLMN1. The IoT device and the relay UE are in the roaming case.
* * * End of Changes * * * *
* * * 2rd Change * * * *
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Figure 5.2.2.3: Traffic scenario 3 of an IoT device which is connected with network via a relay UE in the roaming case 
* * * End of Changes * * * *
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